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RESEARCH APTITUDE, REASONING AND RESEARCH METHODOLOGY &

COMPUTER APPLICATIONS

NOTE :

1.

2
3.
4

All questions are compulsory and of objective type. / G+ 537 3ifarRf T agfss & |
All questions carry equal marks. /Wﬂ U B 3eh I B |
Only one asnwer is to be given for each question. / Wl U3 &1 T & SR ST B |

If more than one answer are marked, it would be treated as wrong answer. / U& q 3@@_
TR < B AT F T & I BN Terd HFT SRR |

Which option is approprite to full fill chain of numbers?
4,8,12,16,7

CAR @ T Aol B R B B Y BT fAwer Suga 87

4,8, 12, 16, ?
(A) 18 (B) 20
(€ 22 ‘ (D) 24 ( )

The missing term of a series is.
2,4,8,16,..... , 64

A TS e o e ¥
2, 4,8, 16, .., 64
(A) 32 (8) 34
(c) 36 (D) 38 ()

Communication is necessary for

YT 3P &

(A)  self-expression / 3meATI I

(B) News/HHEIR & forg

(€) Information / AT & forg

(D) All the above / SURIGd |HY . ( )

Communication is done ......

AT fHar Srem ® .

(A) News paper / HHMIR UF

(B) orally /#HiRg®H

(C) Letter /TUH ‘

(D) All the above / SURIGRT ) ( )
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In Indian tradition marriage is called

> AR wERT ¥ RaTE PEer &
(A) Contract / 3a
(B) ‘Aholybond / Ufds =+
(C) Necessary relation / 3MTgea®d R
(D) All'the above / SURIGd T (

Why do teacher use teaching aid .......

® Ry, R amnflt a1 ST T8 a2
(A) To control / fAI=YT & ferw

-+~ (B) - For entertainment / HAIRSI &v4 & forw

(C) Forattention / AMIHYI & forw
(D) To omprove the understand and knowledge / 19 § ¥ 98 & |

ferg
Knowledge is product of ....... ?
A4 U 27
(A) Research / 9N &) (B) Heradity / m Y
(C) Literature / GIfgcd &) (D) History / sfoer &) (
Which of the following is product of learning?
8.

freifa # <fres @ uftsar &1 aRum 8-

(A) Knowledge / §H

(B) Development / fd&™T

(C) Theory / fET ’

(D) Noneofabove / T8 W dIs 7T&l (

g What _is Democracy?
" T Y P &7
(A) Government by people / T ERT B
(B) Government for people / &I & folU WR&R
(C) Government of people / TN B! IR

(D) Al of the above / SURIGT |H) (
10 Find out the wrong number in the sequence: 1, 3,5, 7, 9, 11
- g e e 99 ARG 1, 3, 5, 7, 9, 11
(A) 6 (B8) 7
€ 9 (D) 11 : (
2
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12.

13.

14.

15.

16.

11 Find out the right number in the sequence?

- o @ W e s Piforg?
(A) 2,4,8 16 (B) 3,6,9,13
(C) 2,4,6,10 (D) 5,10,15,25

(A)
(B)
(€)
(D)

Which one of the followin

(A)

Find out the right answer by match List - | with List-|

fore—1 # fore—11 @ w1 A9 oo

T8 ST S HY?

Schedule Cast - Meena / 3 fora wTfy — oy
Schedule Tribe - Jat / ITRIfeRT SNl — wTe

Other Backward Class - Garo / 3 fUser ot
Schedule Tribe - Bheel / 3IfRra Sreremfy —

Social Auditing / THTISTSG 3feeror

— IR
At

g is not the tool of good governance?

1 4 & B e B SR w6 a7

(B) Non Governmental Organization / R WP e

(€
(D)

Right to Information / &<IT T JIRN®R
Judicial Activism / “g1RIe6 qfthar

Match List - | with List-Il and select the correct match

(A)
(B)
(©

(D)

A1 BT G-I

| et g w8 S @7 T i

Article-14 - Right to equality / 3I¥88—14 — WAl BT BRI
Article-19 - Right to Life / ATTBT—19 — WaT &7 SiRIH
Article-21 - 'Right to speech and expression 7 31?1’3@?{-21 - HEUY Uqg

@i &1 afer

Article-30 - Right to constitutional Reniedy / C’ﬂ_g’i@‘c{~30 — Jaee

SUART BT RBR

U.G.C. is related to

(A)
(B)
(€)
(D)

IS, BT T @

Higher Education / 3T ey
Professional Education / &aTaaIfes Ry
School Education / Al fRrerm

None of above / B9 ¥ iffl?z( B

A successful teacher is one who is

(A)
(B)
(C)
(D)

TP Thd ALATYS I8 & o

Compassionate and disciplinarian / 'ﬁamﬂa
Passive and Active / fAfSpe 3l wAfpy

Do not teachin class / ®eT 9 «1&} UgTeT B
Give tution at home / =X WR TR vgray &

Tq S &)

)
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17.

18.

19,

20.

21.

22.

23,

‘Sunami' is a natural disaster involving

G T Wi anuer & R

(A) Eruption of large amount of material / Y AT § Y By m'ﬂ'-‘[ Bl 8

(B) Strong winds / oy BAIY Fera) 2

(C) Strong winds and water waves / 9T BaY 3k EECGIRG RS SOl 8

(D) Strong water waves / O] &I golaa) e Sod) g

The primary duty of the teacher is to?

SIS BT YRS BHrf 27

(A) Raise the intellectual standard / Sifged v P HAT BIAT
(B) Improve the physical standard / IR v DI HET BT
(C) social development / HIHIRNTS fAwRy

(D) Social change / WIS gRqde

The next number in the series 2, 5, 12, 27, 58 s, will be

2,5 12, 27, 58, ... BT G F et Hear PE—d) 2y
(A) 121 (B) 122 '

() 123 (D) 124

Which year is correct about the National Human Rights Commication Act?

ﬂgﬁawaﬂaﬂ?mzkaﬁﬁaﬂw—wmﬁ%‘?
(A) 1990 , (B) 1993
(C) 1995 .& (D) 2000

What is mean by effective teaching

T Rreror § e Ay @
(A)  Teacher's satisfaction / Rers o1 wdy
(B) Knowledge of teacher / R &1 59

(C) Teacher's liking for professional excellence / e Sesdar @ yfy Rrmm

@ WY

(D) Teacher's mabing students understand / Rrers &7 BIEAT B AT (

What is the role of teacher in field of education?
%m%ﬁaﬁ&rﬂmaﬁﬁﬁwwﬁ?

(A)  Provide informations /. AT UGN &A1

(B) Solve the problem / THRT LGEIE

(C)  Encourage healthy competion / I yfeRmet ®) vieares
(D) Allabove / SURIFT i)

Which one of the following statements is not correct;
ﬁwﬁﬁaﬁa—wwmmﬁﬂ'ﬁ%:
(A) Indian Parliament is Supreme / YR ¥ HHE AR @

(B) The Supreme Court of India has the power of judicial review / YRT ¥ wHafsg

4
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24.

25.

' 26.

27.

28.

29.

(C) President-appoint the judge of Supreme Court 7 ?I'GQCIﬁ '\qiﬁ'v—ol I B
AT Y g wvar &

(D) There is a council of ministers to aid and advise the President / NIgUfy ( )
B HATE o1 B Y 5 uRyg 2
JILK : KLU :: MNPQ: ....... ?
- (A) anePm (8) MPQN
(C) QPNM (D) PNMQ _ ( )
Chipko Movement was first started by?
fRruesY srieter wdwert oy fpar T or?
(A} Sundarlal Bahuguna / J[vevelTal CRUA
(B) lyotiBa Phule / SIfY §T hel
(C) ElaBhatt / oI WE '
(D) Mahatma Gandhi / HETT e ( )
RTI (Right to Information) movement is related to-
I BT ARBR acied &7 Ty &
(A) Rajasthan / ToTReI_
(B) Delhi / feoeht
(C) Uttar Pradesh / SR U297
(D) Tamil nadu / S AT ( )
'X'is wife of 'Y' and ;Y' is brother of 'Z', '2' is son of 'P'. So what is the relation of 'P' to 'X'?
XY DB U B R Y2 B AE R 7 p gy 93 B, P B XY AT
14
(A) sister / 989
(B) Aunt / =TI
(C) Brother / WIS
(D) Fatherinlaw / TR ( )
What is the percentage of water which covers the earth?
gedt & e wRiee g—wrr W et 27
(A) 71% (B) 76%
(C) 66% (D) 33% ( )
Which of the following organization Igoks after the quality of Higher Education in India?
ﬁmﬁ%aﬁwwmmﬁmﬁmaﬁmaﬁﬁ—@mﬁ
(A) U.G.C. (B) N.C.T.E.
(C) 1SS.RA. (D) CS.LR. ( )




OF

Question no. 30 to 33 is based upon the following diagram in which there are three
interlocking circles A, P and S. Where A stands for student, Circle P for Professors and circle $
for sports personDifferent regions in the figure are lettered form a to f:

30.

31

32.

33.

34,

35.

&

S

The region which represents Professors who are both Student and Sports person?

—m%wmﬁwﬁhm%ﬁmwmﬁﬁﬁ
(A) a (B) ¢
() d (D) g ( )

The region which represents Professors, who are also Sports persons but not Student?
mﬁ—wa}awmwmﬁﬁu?&hm%ﬁﬁﬁm@aﬁ%ﬁﬁgmﬂﬁ
g

(A) e (B) f

€ ¢ (D) g ( )

The region which represents Sports person who are neither Student nor Professors

ﬁ%wehwm%ﬁaﬁw@hm%ﬁaﬂ#mﬁﬂﬁm?
(A) f (B) g
(€) b - (D) d ( )

Following are the parts of a computer, except.
TP HRYSR & A1 &, Ryara
(A) KeyBoard / &I IS (B) Monitor / HIFIEX
€ cpu./ ¥idy, (D) Printer / fiex ( )

Who invent the MODEM?

HIed &1 nfawerR feaw far?

(A) BellLaboon / o7 ﬁ{":’

(B) AT and T information system / U&l Uvg & S ey

(€ Apple Computer Ink / YWl HFIEX b

(D) Digital Equipment Corporation / f&Siical saiyive HruRer ( )



36.

37

38.

39.

40.

41.

.

What is the full form of WWW term?

WWW BT X7 919 &7 87

(A) World Wide Web / T¢€ aTss 39

(B) World Web Page / dcs J9 UST

(C) World Web Browsing / dc 49 STSRYT
(D) None ofabove / SURIGT & DIg TS

Which is related to development of computer?

PYN D e 4§ Tty 27
(A) 1946 (B) 1938
(C) 1923 (D) 1951

What is weight of first generation computer?

TEell Mt B BEYER B BT g o o°T?
(A) 30ton / 30 eH (B) 25ton / 25 @9
(C) s50ton / 50 & (D) 15ton / 15 ©9

Which is not related to hardware

DT FRAIR W gy e

(A) KeyBoard / & 9IS

(B) Monitor / HIFTex

(C) Floppy / AT

(D) System Software / RICH HITedgw

Which is related to software?

DT TR F TR 87

(A) system Software / e HIFeIq®

(B)  Application Software / TEHHIT AIFCIIR
(C) Custom Software / HEH HYCIAR

(D) Allof above / SURIHRT |

What is the full form of RAM?

¥ (RAM) BT T 91 FIT 27

(A} Read Access Memory / Re w9 J919)

(B) Random Access Memory / ¥=8H T AERY
(C)  Record All Memory / R&1E aifer a9

(D) None of above / IURIEFT § DI T8

P.T.O.



42,

43,

44,

45.

46.

47.

What is full form of LAN?

O (LAN) T RT 919 @ 27 |

(A) Local Area Network / @1ber TRAT Yead
(B) All Local Network / 3ifeT @peT “egas

(€) Line of All Network / T3 31T 3ifel Jega
(D) Noneofabove / SWRIGT ¥ & &I 7&f

Computer language is

DY WTT B

(A)  Machine Code / o wraT

(B) Assembly Code / 3acil HTST

(C) High Level Language / = Sa8IT HI§T
(D) Allof above / SURIGT W+

What is called to service provider of internet company?

FETe 9 T arel S B Bey 87

(A) Internet Service Provider / se3e dafdg PICIETSH

(B} Internet Information Provider / ST ThiIEE Margex
(C) Internet Technology Provider / S=R-IE CRIRI]] qrargey

(D) Internet Data Provider / $TIRE ST
E-mail is related to '

3o w2

(A) Software / WIFedRR
(B) Hardware / BISIIR
(C) Monitor / HIFTEx

(D) Information / STBTHI

Right match is

wE gafera @ |

(A) RAM- Ramdom Access Memory / YH—¥"gH T A

(B) ROM-Record Only Memory / JF—R&Te T Y

(C) LAN-Link Area Network / S-—foid TRaT Segas

(D) ISP-Internet Service Product / W——Wﬁ‘d g Meac

What is Printer?

= w7 87

(A)  Input Device / g Yc fearsw

(B) Output Device / arseye feagw
(C) Both / QMY

(D) None / IS &

P.T.O.



48.

49,

50.

SL

52.

53.

What is related to development of Computer?

HYR @ fIBra 9 grfia 27
(A) Batch Processing / &9 WIRARTT
(B) Time Sharing / <189 Igfdr
(©) RealTime / Ryt erzH

(D) Allabove / SURIGd UH)

Function of Internet is

e & Y &

(A) Only sending data / % 3fips A5=T

(B) Only receiving data / RI® 3Nide UIg HRAT

(C) Sending and receiving data / 3T NSIET T YT HIAT
(D) None of above / SURIGT § ¥ P &)

MODEM is related to

AreH g @

(A) Computer / HFeX (B) Internet / SvERAT
(C) Floppy / Weirdl (D) Hard Disc / BTS fowp

In sampling the lottery method is used for
maﬁwmmmmmmmm%?
(A) Interpretatioin / fd==

(B) Generalization / ATHIRIIRHNOT

(C) Randemisation / AUTGFHEHT

(D) Conceptualisation / HHSIAT

The scientific research not related to ...

e My § et 98 @
(A) Generalization / HTHIRATHYO
(B) Hypothesis / SUBSHAT

(C) Objective / eI

(D) Prejudices / Y&TUTd

What is the main object of research

W BT T I 8

(A) To discover new facts or to make fresh interpretation of known facts / 19 qegy

B G HAT T R oAl B S
(B) To review the literature / ATfecd P THET HIET

(C) Togetan academic degree / 3THIEAF &) UTe FHear
(D) write abook / fhame forgar

P.T.O.



54.

55.

56.

57.

58.

59.

60.

Scientific research do not include?

aefe e 5 wfie w1E) et 22
(A) Honesty / SHIFET

(B) Objectivity / RIS

(C) Subjectivity / THfRTINGAT (D) sampling / AT

Which is the type of social research?
BT ARG ATHIT BT TR 27
(A) Pureresearch / faglg oy

(B) Action research / fohaTeHes oy

(C) Applied research / agIR% INer
(D) Allof above / SWRIGT

Which is not the method of qualitative research?
B TS Y YERY A8 &2
(A) Interview Method / WTeTchIR UgRy

(B) Case Study Method / Tafdies SiaeT sreae uefy

(C) Observation Method / 313afedd Ugly
(D) Statistical Method / HiRT®IT ugfy

"Systematic effort to gain new knowledge we call research” who difine this?

Wwﬁwmﬁ%mmaﬁsﬁmwméw

fra aRyifa foram?

(A) Redmen and Mory / Y3 Tq ANY
(B) P.V.Young / QI I

(C) Fisher / fh3IR

(D) CVv.Good / WYL TS

“Scientific Social Survey and Research” who wrote this book?

AEfefhe e Wt Red” Ame W ey Rrd?

(A) P.V.Young / UIdL. I
(C) Mory / A

"Social Research" who is the author of this book?
(A) G.A.Lundberg / SII.Y. Guse
(C) Thomson / T+

Which is the source of Hypotheses?
SUBTIT BT AT DIT—dT 87

(A)  General Culture / HTHTT HEHTY
(B) Scientific Theory / AsTIfAep U=l

(C) Analogies / FHRITOIY
(D) Allofabove / SURIGd |+

10

(B) Fisher / 3R
(D) Redmen / &3+

(B) P.V.Young / WIA). I

(D) Fisher / fh3R

(
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61.

62.

63.

64.

65.

66.

67.

“The unity of all science consists only in its method, not its material" Who define this?

"R 39 B vHa Bao S uSfy F L, 7 b owar RAvy we §
Tg e aRaia frar? |

(A) Karl Person / Tl TOa™f= (B)Lundberg / USRI

(C) Bernord / FATS (D) Goodeand Hatt / T[S YU 8fc ()

“Broadly speaking, scientific method consists of systematic observations, classification
and interpretation of data”- Who give this statement?

“faega ot # denfie ugfy qeal &1 emaRer sraciie, avffeer Td AidEe
(A) Lundberg / TUeE (B) Chambliss / aforg
(B) Bernard / FHIS (D) Chase / =T ( )

The most suitable method for research in a large sample is

gy H faener =rest B W waife swyem Ay @

(A} Experimental Method / UaTTTeHa% fafdy (g) Survey Method /defor ffey
(C) Case Study Method / dafdtres Jregg=T fafy

(D) Supervised Study Method / THdeToT areag=T fafy ( )
Which is the merits of social survey?
| |deror & o7 €7
(A) Quantitative data / URHTOHE AT (B) Qualitative data VAINIRCAR: CEIIY
(C) Objectivity / TRIFTSaT (D) All the above / JURIGR T4

( )

"A sample as the name implies is a smaller representation of a larger whole" who define
this?

TE T S & gwe AW @ W @ e fivga g @ e anemga
oy gt 8 a7 uRemer feas <& &7
(A) Goode and Hatt / ‘l@@iﬁ_d (B) Young / T

(C) Lundberg / U (D) Fairchild / BIRAges ()

Which is not the type of probability sampling?

DI oS 2N ugfy e &7

(A) Lottary Method / @ifest fafey

(B) Grid Method / fre fafdy

(C) Random number table Method / XUSH TR ga AR

(D) Quata Sampling / FETST AR ( )

What of the following in not a Scientific research?

frfeRaa A 4 Bivar e Wy o Rewar =8 27

(A)  Objectivity / IRIfTar (B) Reliability / fazaw==rar

(C)  Use of Scientific methods / ASTIBUERT &1 UaRT (D) Ambignity / 3¥USEdT
()
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